X a"7 "0 R, P" 702

For ' broke the strength of his fist — FPIOTAY R2OPY 937 K12n N7

OVERVIEW

The X723 asked that since 1" is following the view of ¥"7, why does he not
mention two types of M, which are MW P> 187 7w where he pays a 1'n, and MW
07X P17 who pays a w"1 even if he is a on, according to ¥"7. The X3 answered
that 7°1°13% ¥"9 772N, since ¥"1 maintains that a 782 22nw an pays only 112 (not
m%vn ). It is not clear how this resolves the initial question, which is that why
not mention the difference between a 0782 2anw on who pays a w"1 as opposed to a
W32 3w an who pays only a 1"n. Our M0 mentions two explanations and
rejects them, and subsequently offers his explanation.

- Y911 oYwnw NP 12 NNT YYD PN
We cannot explain that the meaning of '7°1°13% ¥"9 7°92n' is that ¥''1 recanted his
original view that a 0782 721w on pays a w"1, since ¥"9 taught in a X712 that a on

07X 727w pays only 19131 therefore since ¥ maintains that he pays 1973, that means that
¥"1 recanted and admits that a 0782 2nw an pays only a pri ’xn;z This, however, is not true -

- 215¥5 K9 PHNND NN VYN IMIN KAYPY 29 R¥TNA 931 (x,35 47 10ps) NN PI927
For in o1 P92 it is clearly stated in a Xn>92 that ¥''9 says; regarding a 1w an
QX7 DX, the 709 states that you should deal with this case 7177 wowns (like this
rule); referring to the rule in the latter 2°p109 (of a 7v 1, who pays a v'"1), and not
like the rule in the former o°mo (of a on who pays a 1"1). Nevertheless ¥" continues -

— 15 NYYYN 1N DHYS 919
I might assume that a o7%2 2nw on should pay 7>%¥:7 32, etc. (just as a 7 does),
therefore the P05 concludes 12 7wy, that even this an (who pays a w"1, nevertheless he) pays
only 19mn. It is evident from that Xn»92 that even after ¥"1 concedes that a 0782 anw an pays
19137, he nevertheless maintains that it pays a w"1. The question remains why does not the Xn»"2
include 7w >1m3 >N, which are MW P*1X7T MW (who pays a 1"1) and DX P*IXT MW (who pays a w"),
since their respective laws are different regarding a 1"r and a w"1.

mooIn cites *"w1d and rejects it:
- ‘war AYP ) DIOVNPN WINAD

' There is no (other) case where the P> pays 191» and pays a 09w pi (except according to ©"3 by PP %M 177
See 2,1 X 3).

? If we were to assume that 12 7 ¥, there would be no question why 11 does not mention two types of 1M, since
v" agrees that (even) a 0782 22w an pays only a pr1>xm.

? The 109 of (X2,20 [2°wown] Niw) i wownd which discusses the case of DX AW M is immediately preceded by
the laws regarding a (?-v> ow) 737 MW and the 7vm7 MW is preceded by the laws regarding a (n2 P109) on.
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And it is also difficult according to the interpretation of »''w9, who explained
that since the 7MW pays only 191 it is possible that he will not pay a w"1 (therefore 27X P 1XT MW
would be similar to MW PIRT NW) —

moon however rejects this approach; for -
=IPIN 21D NIV PR NYNY 11N DHY P XD 19310917 2) DY 9N

Even though occasionally there will not be a w"z; if for instance the P17 W

is not worth as much as he damaged -
- @YY PTI NN D0YTT 1153 MY 2N 299 211°Y DIPN Yan

Nevertheless, 11" should still list two types of =, since occasionally there is
sufficient value in the P17 W to pay a w''a!

N1B0IN answers:
- AN 533 53PN AWON N 199 NIN DIUN PNT 1197 9129 ¥

And one can say; that since the 07X P°1X7 7 pays only 1213%, it is impossible to

list him among the nax -
120551 DYYY 10 MANI D919 197Y 135997

For the Xni states later regarding the n"77 n1ax that they are all considered as

MaR in regards that they are required to pay damages from the choicest of their
fields. However by o7Xa »amw on 7w, since he pays 01, there is no obligation of av'n.” Therefore it
cannot be listed among the 7°p°11 M2ax of n"A.

SUMMARY
DX P°IX7 an cannot be included in the 1"97 NAX; since it pays 1917 it is not similar
to the other MaX who are required to pay from 2v™n.

THINKING IT OVER
Why is paying 13 not consistent with 20°n?° If the p>m wants to pay with vpp,
he should be required to pay from 2v°n?!’

* The 0"~ inserts the following citation from *"w9, which reads; "XT 7w MWAw M2 KoK D9 P11 D2WH K9T AWK
"o.

> See “Thinking it over’.

® See footnote # 5.

7 See the (7w W) X,3% mwn and the ensuing X723 there. See n"ma.
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